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4 Extra Practice 2



1.
Choose the correct answer.


1.
We have got hair on / between our head.


2.
People sit behind / in front of their computers for hours.


3.
Spain is next to / above France.


4.
In the tango, the girl dances opposite / between the boy.


5.
There are many shops under / in a shopping centre.


6.
Eagles fly under / above tall buildings.


2.
Complete the sentences with prepositions of place from Exercise 1.
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1.
The hospital is ………………… the sports centre.


2.
The restaurant is ………………… the library.


3.
The bakery is ………………… the butcher’s.


4.
The supermarket is ………………… the bakery and the hospital.


5.
The swimming pool is ………………… the sports centre.


6.
There’s an ambulance ………………… the hospital.


7.
The bank is ………………… the library.


8.
There are some cars ………………… the bakery.



3.
Complete the sentences with the verbs below. Use the correct form of the Present Continuous.
	cook • run • play • ride • use



1.
Kim ………………… her bike to the library now.


2.
I can’t talk right now. I ………………… dinner.


3.
………………… you ………………… the computer at the moment?


4.
Where’s Dad? He ………………… football, because his sports shoes are under the bed.


5.
It’s early. Why ………………… Andrew ………………… to school?


4.
Complete the sentences with the verbs in brackets. Use the Present Simple or Present Continuous.


1.
Coffee beans ………………… (grow) in Brazil.


2.
Where ………………… Tina usually ………………… (sit)?


3.
Jo’s at school. She ………………… (shop) now.


4.
Bert ………………… (understand) the homework because it’s very difficult.


5.
………………… you ………………… (feed) the fish at the moment?


5.
Complete the e-mail with the correct form of the verbs in brackets. Use the Present Simple or Present Continuous.


Hi Jake,

1………………… you ………………… (study) right now? I 2………………… (use) my laptop computer, but I 3………………… (not do) homework now. I 4………………… (sit) in the tennis stadium with Judy. We 5………………… (not watch) the tennis match, because the players 6………………… (not play) at the moment. It 7………………… (rain) and the players 8………………… (wait) for the rain to stop. Judy 9………………… (not like) the rain. She’s cold and she 10………………… (want) to go home.

Bye,

Ben




Are





studying





grow





is riding





Grammar





opposite
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